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1. Mariah is buying grapes. She bought 3 pounds and spent $7.84. How much did the

3

4.

grapes cost per pound? (\lj(_\ g
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Romeo is driving to Nashville. It is 457 miles away. It took him 6.5 hours. What was his
average speed in miles per hour?
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The table shows a person spending money at a constant rate. Wm l/“’ {
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# of months 1 2 3 4
Total $ spent 50 100 150 200
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This table shows a person saving at a constant rate. S
Days 10 20 30 40
Total Savings (S) | 30 60 90 120
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Select True of False for each of the following statements about the table below.

Age in Years 0 d 2 3
Weight in 8 : 20 25 35
pounds

T F/The ratio of x:;y equals 1:20 faal4&

F The ratio x:y is not constant —TVAL
T/@T he ratio x:y is constant ~ FAls&
UF The savings does not stay constant ~{y1&
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Juho eats 1/8 of a pizza in 1/3 of a minute. If he continues at the same rate, how long
will it take him to eat the entire plzza???
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A nutritional label show that cereal has 120 calories in % cup. How many caloriesarein """
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On a map, Florida is 7 % inches away from Jefferson City. If each % inch stands for 100 :
miles, how many miles away from Jeff City is Florida? Y. "‘féc{ L ,
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To grade 100 tests, it takes Mrs. Phillips 2.5 hours. Ms. Basnett grades at a speed that is = igzbuf
proportional to Mrs. Phillips. If she only has 1.5 hours to grade tests before she goes to —
bed, how many tests can Ms. Basnett expect to get graded?
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10. The table shows Kristen’s pay for 8 hours of work. Two entries are missing, fill in the

empty boxes.

Number of hours Pay
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a.) What is Kristen’s pay per hour? __* ONE
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b.) Find the number of hours Kristen worked if she got paid $770. lj—o-g'g,}l" i
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11. The graph shows the total miles driven on a family road trip. s S
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Family Road Trip
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a) How many miles per hour does the family drive? __*
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b) Does this graph represent a proportional relationship? Explain your reasoning.
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12. The graph below shows the Weekly Costs for workers.

Weekly Costs
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a) How much does it cost per employee based on this graph'-> ~TE
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13. The graph below shows a proportional relationship. Find the number of heartbeats for
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8 seconds.
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14. The graph below shows the speed of a sloth. What is the rate of change

from 1—@to 2- im\;éé Use <
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Speed ot a Sloth
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15. What is the slope of the line?
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** | apologize for the formatting. This is obviously question #16. Just go with it. ©

\Le
Use the table to answer

- Lemonade Recipe Al
oot " | 1 | 211 3 | 4 | 5 } 8 ”
\Sugar (cups) | 15 3 4.5 6 7.8 g \/;W
{Water (cups) | 7 14 21 28 35 | 42

Tell whether each relationship is proportional. If it is proportienal, write the eguation
for the relationship.
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